“'asobem’ a déleni 0 .»

Vypocitej

7.7= 7.4= 14:7 = 8:4=
5.7T= 4.4= 28:7= 30:3=
8.7= 3.b= 42 :7 = 18:6 =
10.7= 8.6= 63:7= 36:5=

Spoj priklady se spravnymi vysledky

24 : 6 8 63:7 7 30:5
36:6 4 56 : 7 8 35:5
48 : 6 6 49 : 7 9 45:5
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Rozlisujeme o nékolik vic, nékolikrat vic

cislo 2 4 1 5 P 6

0 5 vic

Skrat vic

o 7 vic

7krat vic

Dopln spravné ¢islo

5. =35 __13=6 __ T=2
4. =32 28 T= 3.4=
0.5=__ 36:___=6 8.5=_
__-6=48 _ =9 7.7=__
Vypocitej

T+7+7+7+7T+7=__ 3x3+3I+I+3=
5+5+5+5=_ 4+4+4+4=__

6+6+6+6+6+6+6=__ 2%¥242%2%2+2=




